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TERM 3

PRELIMINARY COURSE
EXAMINATION

Total marks for this paper: 60

This paper has two parts, Part A
and Part B.

Part A

Total marks (10)

e Attempt all 10 questions in
this part

e Allow about 15 minutes for
this part

Part B

Total marks (50)

e Attempt all questions

e Allow about 75 minutes for
this part
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What age do scientists estimate the Earth to be?

a) 4000 years old

b) 4500 years old

c) 4.5 million years old

d) At least 4 billion years old

What probably produced the first oxygen in the Earth’s atmosphere?

a) sulfur bacteria
b) eucaryolic algae
c) cyanobacteria
d) iron bacteria

Which scientist demonstrated that organic molecules could be formed in the presence of
electricity and reducing gases”’

a) A. 1 Oparin

b) Stanley Miller

c) Carolus Linnaeus
d) J B. S Haldane

What are the taxonomic levels used to classify organisms, from least specific to most specific?

a) phylum, family, genus, species, order, class

b) kingdom, phylum, class, order, family, genus, species
c) genus, order, class, phylum, species, family, kingdom
d) species, genus, family, order, class, phylum, kingdom

What do the layers of stromatolites consist of?

a) procaryotic organisms
b) single-celled fungi

c) algae

d) amino acids

What is one reason why it is difficult to classify extinct organisms?

a) many fossils no longer contain any genetic material, making evolutionary comparisons
difficult

b) fossils of extinct species are extremely rare

c) most extinct organisms are not related to any living organism present today

d) it is too hard to compare the bones of extinct organisms with those of living
organisms

Why was Australia’s climate tropical between 600-200 million years ago?

a) Australia had broken away from Antarctica and was moving northwards
b) Australia was still part of Pangaea and was located near the equator

c) There was an ice age during this period

d) Australia had broken away from Pangaea and was moving south
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8 Which of the following is a feature of meiosis?

a) It produces gametes with the diploid (full) number of chromosomes
b) It produces body cells with the haploid (half) number of chromosomes
c) It involves one nuclear division
d) It involves two nuclear divisions
9 What are two adaptations to life on land in terrestrial organisms?
a) external fertilisation and soft-shelled eggs
b) internal fertilisation and the production of large numbers of gametes
c) internal fertilisation and waterproof eggs

d) external fertilisation and the production of large numbers of gametes

10 Which of the following events in the formation of the Australian continent are described
correctly and in the correct order?

a) Australia’s climate was tropical, Pangaea split into Gondwana and Laurasia, Australia’s
climate became cooler as it separated from Gondwana and moved south

b) Australia became drier as it moved north; Laurasia split into Pangaea and Gondwana,
Australia separated from Antarctica

9) Australia was part of Gondwana; Gondwana split into Laurasia and Pangaea, the

climate became tropical
d) Australia’s climate was tropical: Australia moved north and the climate became drier:
Australia separated from Gondwana
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Student Number

Write your Student Number at the top of this Part B Answer Sheet.

Part B

Total marks (50)

Attempt all questions

Marks vary for each question

Answer the questions in the space provided
Allow about 75 minutes for this part

Question 1 (3 marks)

Describe how recent technology has changed the ideas of scientists about individual species such as
the platypus

Question 2 (3 marks)

Describe three pieces of evidence that support the concept that Australia was once part of a land mass
called Gondwana
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Question 5§ (6 marks)
Question 3 (6 marks)

a) Explain why meiosis and sexual reproduction are important for the survival of species (2 marks)

Complete the table below to describe two Australian fossils.

Name of Where was | How has this fossil contributed to our understanding of’ — -
fossil this fossil evolution in Australia?
found?

b) Contrast the processes and outcomes of meiosis and mitosis (4 marks)

Question 6 (4 marks)

a) Rearrange the following into the order in which they appeared on Earth:

colonial organisms, procaryotic heterotrophic cells, eucaryotic cells, multicellular organisms,
membranes, organic molecules, procaryotic autotrophic cells. (2 marks)

Question 4 (3 marks)

Outline two reproductive adaptations of a named Australian animal that help to ensure the species
continuity

b) Give a briet description of the following:

1) colomal organisms; (2 marks)
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1i) eucaryotic cells

Question 7 (4 marks)

Describe one piece of palacontological and/or geological evidence for:
1) the theory that life arose in deep-sea vents

(2 marks)

ii) the theory that oxygen accumulated in the atmosphere around 2 billion years ago

(2 marks)
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Question 8 (8 marks)

Classification is an arbitrary system. Identify the kingdoms present, the criteria used in classification
and the advantages and disadvantages for the 3 & 5 kingdom systems of living things.

3 kingdom

5 kingdom

Names of
kingdoms present

Criteria used to select each

kingdom

Advantages of this system

Disadvantages of this
system
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Question 9 (5 marks)

i) Identify three new technologies that have changed or affected previous classification systems.
(3 marks)

ii) Outline how one of the technologies identified in i) has done this, (2 marks)

Question 10 (3 marks)

Use one example to discuss the ways in which developments in scientific knowledge may conflict with
the 1deas about the origin of life developed by different cultures.
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Question 11 (5 marks)

Construct a numbered Dichotomous Key in order to key out each organism below

Write a numbered key to classify the following plants

C. juncus

- water lily
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Part A Answer Sheet

RloLogy

Write your Student Number at the top of this Part A Answer Sheet.
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Student Number

Select the alternative A, B, C or D that best answers the question. Fill in the response circle
completely using ik

1 A
2 A
3 A
4 A
5 A
oA
7 A
8 A
9 A
10. A
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Student Number N

Write your Student Number at the top of this Part B Answer Sheet. AN

Part B \

Total marks (50)

Attempt all questions

Marks vary for each question

Answer the questions in the space provided
Allow about 75 minutes for this part

Question 1 (3 marks)

Describe how recent technology has changed lhsz ideas of scientists about individual species such as
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Describe three pieces of evidence that support the concept that Australia was once part of a land mass
called Gondwana ¢
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Question 3 (6 marks)

Complete the table below to describe two Australian fossils. ' Mﬁ&
Name of Where was | How has this fossil contributed to our understanding of
fossil this fossil evolution in Australia?
found?
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Question 4 (3 marks)

Outline two reproductive adaptations of a named Australian animal that help to ensure the species
continuity.
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Question 5 (6 marks)

a) Explain why meiosis and sexual reproduction are important for the survival of species (2 marks)
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b) Contrast the processes and outcomes of meiosis and mitosis (4 marks)
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Question 6 (4 marks)
a) Rearrange the following into the order in which they appeared on Earth:
colonial l:)rgamsms procaryotic heterotrophic cells, eucaryotic cells, multicellular organisms,
membranes, organic molecules, procaryotic autotrophic cells. (2 marks)
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b) Give a brief description of the following:

1) colonial organisms, (2 marks)
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1) eucaryotic cells
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Question 7 (4 marks)

Describe one piece of palaeontological and/or geological evidence for:

i) the theory that life arose in deep-sea vents (2 marks)
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ii) the theory that oxygen accumulated in the atmosphere around 2 billion years ago (2 marks)
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Question 8 (8 marks)
Classification is an arbitrary system. Identify the kingdoms present, the criteria used in classification
and the advantages and disadvantages for the 3 & 5 kingdom systems of living things
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Question 9 (5 marks)

i) Identify three new technologies that have changed or affected previous classification systems.
(3 marks)
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Question 10 (3 marks)

Use one example to discuss the ways in which developments in scientific knowledge may conflict with
the ideas about the origin of life developed by different cultures.

) 4 Crambromis wun
. 2| eues ot supo.
bra,lm:a]%. w/fj.ed__.{mﬁqiu‘w*ﬁv b crvate plouts,
18 g & o & s-c-r-M-J-\{‘LA_
aress that Lﬁb— srosa. on cartl. alo.ck 2SS il -ycs

kl-fjo-:mm the ieas b b0 “—‘{— a seqwa C{~ chosic ol

| = Seepaces

..J[OQL‘_B{
fbwt Q.W

W
dud

2006 Term 3 Prelim. Biology 11

Question 11 (5 marks)

Construct a numbered Dichotomous Key in order to key out each organism below

Write a numbered key to classify the following plants.
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